Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-I (CtoD) « EXAMINATION — WINTER » 2014
Date: 19-12-2014

Subject Code: C315003
Subject Name: Building Materials
Time: 2:30 pm - 04:00 pm

Instructions:
1. Question No. 1 is Compulsory Question and attempt any THREE questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4

Eac

h question carry equal marks (14 marks)

Total Marks: 70

No | Question Text and Option
Which is not suitable for plaster work?
1. |A | Clay B. | Lime
C. | Cement D. | Plastic
Which of the following indicates the capacity to transfer moisture through the
5 materials?
" | A. | Porosity B. | Moisture Absorption
C. Permeability D. | Hygroscopity
Which test is carried out for concrete?
3. | A. | Workability B. | Ball test
C. | Acid Test D. | Water absorption
Which brick is used for breaking joints in English bond?
4. | A. | King closer B. | Cornice
C. | Queen closer D. | Bull nose
Which one of the following stone is layered?
5. | A. | Granite B. | Lime Stone
C. | Gabro D. | Dolerite
Which of the following material does not have any binding property?
6. | A Pozzolana B. | Hydraulic lime
C. Fat lime D. | Artificial hydraulic lime
Consistency of cement is a test for its
7. | A Liguefaction B. | Compressive strength
C. | Tensile strength D. | Soundness
Age of tree........... find out by
8. | A. | Cambium layer B. | Annual rings
C. | Medullary Rays D. | Heart wood
Which of the following wood is not easily workable?
9. |A | Chir B. | deodar
C. | Sal D. | Shisham
Capability to resist the changes in volume is
10. | A. | Soundness B. | Hardness
C. | Durability D. | Density
Which one of the following stone is metamorphic?
11. | A. | Marble B. | Granite
C. | Lime Stone D. | Sand Stone
Which one of the following indicates the correct required compressive strength for
12 class A type of bricks?
"I A | 7to 14 N/mm® B. | Less than 3.5 N/mm®
C. | More than 14 N/mm® D. | More than 3.5 N/mm®
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13.

Wood with width more than 5 cm and thickness less than 5 cm are called ?

A. | Planks

B.

Board

C. | Batten

D.

Scantling

14.

The size of mould for bricks, is generally kept in®

A. | a little large to specified size

B.

a little small to specified size

C. | equal to specified size

D.

10% larger than specified size

Which one of the following is mostly used for preventing moisture?

15. | A. | Lime Stone B. | Granite
C. | Laterite D. | Slate
Formation of frog in brick
16. | A. | Increases the bond strength of brick B. | Increases the compressive
strength of brick
C. | Increases the appearance of brick D. | Reduces efflorescence of brick
For cement Le-chatelier apparatus decides
17. | A. | Strength B. | Setting time
C. | Permeability D. | Soundness
Which wood is used to making handles?
18.
A. | Teak B. | Khair
C. | Chir D. | Deodar
Which one of the following stones is more fire resistive?
19. | A. | Laterite B. | Lime Stone
C. | Sand Stone D. | Gneiss

20.

For better workability of concrete which type o

f aggregates should be used?

A. | Aggregates with sharp corners

B.

Flaky aggregates

C. | Aggregates with irregular shapes

D.

Rounded aggregates

Which of the following indicates mechanical property of the material?

21.
A. | Elasticity B. | Porosity
C. | Absorption D. | Density
Which type of shake starts from bark and proceeds towards pith?
22| A. | Cup shake B. | Heart shake
C. | Star shake D. | Ring shake
Aggregate with maximum density are
23. | A. | Barytes B. | Pumice
C. | Quartz D. | Cinder
Knot processing 4 mm dia. is
24. | A. | Medium B. | Big
C. | Small D. | Pin
Which stone does not require dressing?
25. | A. | Lime Stone B. | Sand Stone
C. | Slate D. | Artificial stone
Texture test for brick decides its .............
26. | A. | Arrangements for minerals B. | Compressive strength
C. | Tensile strength D. | Hardness
The commonly used raw material in the manufacture of cement, is
27 | A._|slate B. | sand stone
C. | lime stone D. | basalt
Which type of current is suitable for electrical seasoning of wood?
28. | A. | High voltage B. | High frequency
C. | Low voltage D. | Low frequency
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29.

In rotary slicing foe getting artificial wood

A. | Cutter is kept movable

B.

Wood is kept fixed

C. | Wood is kept movable

D.

Cutter is kept fixed

In the process of brick manufacturing the pug mill is

used in which of the following

30 Operation?
" | A. | Weathering B. | Blending
C. | Tempering D. | Burning
Sandstone is
31 A. | Volcanic rock B. | Igneous rock
C. | Metamorphic rock D. | Sedimentary rock

Which type of artificial wood is considered best for making furniture?

32. | A. | Hard board B. | Block board
C. | Cempreg D. | Batten board
Metamorphic type rock resist against weathering action

33. | A. |Limestone B. | Marble
C. | Slate D. | Quartz

34.

Which one of the sentence is correct?

B.

Lime increase shrinkage

A. | Lime increases plasticity
C. | Lime is not durable

D.

Lime gains strength suddenly

Which one of the following brick burning devices is not at all continuous?

35. | A. | Bull trench B. | Hoffman
C. | Tunnel D. | Clamp
Which one of the following test decides the fineness of cement?
36. | A. | Sieve analysis B. | Setting time
C. | Consistency D. | Soundness

37.

To decrease pores and hollows in concrete which typ

es of aggregate should be used?

A. | Fine Aggregates

B.

Aggregates with sharp corner

C. | Graded Aggregate

D.

Aggregate with more density

Which of the following stones is not suitable as railway ballast?

38. | A. | Basalt B. | Granite
C. | Sand stone D. | Slate
For marine works, the best suited cement is

39. | A. | Low heat Portland cement B. | Rapid hardening cement
C. | Ordinary Portland cement D. | Blast furnace slag cement

The number of bricks required per cubic meter

of brick masonry is

40. | A. | 400 B. | 450
C. | 500 D. | 550
Which of the following pozzolana is not natural?

41. | A. | Opaline shell B. | Flyash
C. | Diatomic earth D. | Pumice
Which test is not applicable for fine aggregates?

42. | A. | Grading B. | Sieve
C. | Fineness modulus D. | Impact

43.

Which one of the following sentence is incorrect? When water is added into Fat lime

A. | Volume of lime increases

B.

Hissing sound is created

C. | Lime turns into powder

D.

Lime becomes hydraulic

44,

Which of the following constituents make the brick RED?

Magnesia

B.

Iron oxide

Alkalies

D.

Lime

45.

Tensile strength of concrete increases

B.

A
C.
Which one of the following sentence is incorrect? If we use pozzolana
A

Heat of hydration of concrete is
reduced

C. | Permeability of concrete increase

D.

Leaching of concrete is reduced
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For

mass concreting

46. | A. | Rapid hardening cement B. | Low heat cement
C. | Quick setting cement D. | Hydrophobic cement
In steel industry the bricks used for lining furnaces should be
47. | A. | acid refractory B. | basic refractory
C. | neutral refractory D. | heavy duty
For which of the following devices for burning bricks, it is necessary to dry the brick
48 before arranging the raw bricks in the devices?
“| A. | Clamp B. | Tunnel
C. | Bull trench D. | Hoffman

Which stone can be prepared on the surface of a glass applied with oil ?

49. | A. | Artificial marble B. | Ford
C. | Cement concrete block D. | Chemical Stone
The foliated structure is very common

50. | A. | sedimentary rocks B. | igneous rocks
C. | metamorphic rocks D. | none of these.

Which of the following shows the chemical property of a material?

51. | A. | Density B. | Porosity
C. | Corrosion D. | Creep
Eminently hydraulic lime
52. | A. | Sets quickly B. | Slakes slowly
C. | Does not set under water D. | Is useful for white washing
Out of followings point out the test for coarse aggregates.
53. | A. | Soundness B. | Consistency
C. | Abrasion D. | Fineness modulus
The standard size of masonry bricks, is
54. | A. | 18cmx8cmx8cm B. |20cmx 10 cmx 10 cm
C. 119cmx9cmx9cm D. |[21cmx1lcmx1lcm
Which type of defect is not created during the growth of tree?
55. | A. | Check | B. | Cup shake |
C. | Upset | D. | Rind galls
For which of the following reasons “Glazing” is not necessary?
56 A. | To make the article coloured B. | To make article shining
" | C. | Toincrease the volume of article D. | To improve the appearance of
article
Which of the following constituents make the clay plastic for moulding brick ?
57. | A. | Silica B. | Magnesia
C. | Iron oxide D. | Alumina
Which one of the following stones is most suitable for partition wall?
58. | A. | Slate B. | Granite
C. | Dolerite D. | Synite
Which one of the following limes is suit able for plaster work?
59. | A. | Artificial hydraulic lime B. | Hydraulic lime
C. | Quick lime D. | Eminently hydraulic lime
Black marble is generally found in the district of
60. | A. | Jodhpur B. | Jaipur
C. | Jabalpur D. | Jaisalmer
Which part of stem dies up when plant becomes old?
61, A. | Bark B. | pith
C. | Annular rings D. | Medullary rays
Which of the following shows the physical property of a material?
62. | A. | Permeability B. | Basic composition
C. | Fatigue D. | Corrosion
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Syenite is a

63. | A. | deep seated plutonic B. | hypabassal rock
C. | basic rock D. | acid rock
Which one of the following is most suitable for long storage in foggy weather?
64. | A. | Expanding cement B. | Hydrophobic cement
C. | Acid resistant cement D. | Water proof cement
Which one of the following constituents of brick clay is responsible for shrinkage of
65 brick?
" | A. | Silica B. | Alumina
C. | Lime D. | Magnesia

Which Lime is suitable for the preparation of mortar

for construction of thick wall ?

66. | A. | Hydraulic lime B. | Hydrated lime
C. | Fatlime D. | Quick lime
The colour of statuary marble used for sculptor's work, is

67. "A T white B. |yellow
C. |red D. | green
The weight of a standard brick should be

68. | A. | 1000 g B. | 1500 ¢
C. | 25009 D. | 3000g
This type of brick used as basic refractory type

69. | A. | Chrome brick B. | Silemite brick
C. | Magnesite brick D. | None of these
The tendency of a stone is, to split along:

70. | A. | texture B. | cleavage
C. | fracture D. | structure
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